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O UAtASHAR 2 NS=UE HA
20,000,000& * 13 20,000
O Chatalstd 23 HAALY 5,000
— NS XA 2 £& 1,000,000& =* 53| 5,000
O CHAAISEA R CHAPAI QT 2R DA 8,000
— FRZUA 150,000& * 403/ 6,000
— Z=FH2AA 500,000& * 43 2,000
O ClatAsStHA R CHatDE S0 2HSAIY 14,000
— ¥z % M2 14,000,000 14,000
O Chatalsrd 23 23| 18,000
— AREZHl, Alg2teldl 9,000,000 9,000
— &34l ¥ sl 9,000,000& 9,000
ChatRAEX s28 22 85,090 110,420 N 25,330
Chah K2 2 50,000 50,000 0
Chatg27¢Y 50,000 50,000 0
405 KHoHFE S HI 50,000 50,000 0
01 JHAtY 2 Z 5 S H 50,000 50,000 0
O g7 2822
50,000,000& * 14 50,000
SSHAS 229 35,090 60,420 N 25,330
YEEHZ L FeEy 2,500 2,500 0
206 M = Hl 2,500 2,500 0
01 24l 2,500 2,500 0
O ObAM3l&dgrct 2,500,000& * 10 2,500
SEX 2el 32,590 57,920 N 25,330
101 @121 21,808 21,438 370
04 JIZtHI22NSE S 21,808 21,438 370
O ChatR AR 22 & 16,208
- Ja 2 42 6503 * 1Y = 261L 11,132
- =524 42,6503 * 198 = 52 2,218
— X 42,650 * 1Y = 15 640
- §222Y 42 650 * 19 » 52 2,218
OJlga Mgz Jigsd X4
100,000 = 10 1,000
O =i X4 22 40,0008 * 29 * 10 800
O Z2UH =8+ dgails 2H
50,0003 = 4% x 4L 800
O KHEXN =8 WI &Y 100,000& * 10 1,000
O CHAtHIOIS & S X1 22| 66,660& * 30 2,000
201 Lt 2| 10,782 31,482 £20,700
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